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Cuadro 19 (continuación 3)/Table 19 (continued 3)
República Dominicana: tablas abreviadas de mortalidada

Dominican Republic: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.093 0.087  100 000  8 718  93 562 0.909 b 6 121 894 61.2
1 4 0.004 0.017  91 282  1 509  361 077 0.984 c 6 028 332 66.0
5 5 0.001 0.006  89 773   566  447 449 0.994 5 667 254 63.1

10 5 0.001 0.005  89 207   445  444 921 0.994 5 219 805 58.5
15 5 0.002 0.008  88 762   681  442 106 0.989 4 774 884 53.8
20 5 0.003 0.014  88 081  1 195  437 417 0.985 4 332 777 49.2
25 5 0.003 0.016  86 886  1 412  430 900 0.983 3 895 361 44.8
30 5 0.004 0.018  85 474  1 536  423 528 0.980 3 464 461 40.5
35 5 0.004 0.021  83 937  1 779  415 241 0.976 3 040 933 36.2
40 5 0.006 0.028  82 159  2 269  405 121 0.968 2 625 692 32.0
45 5 0.007 0.036  79 890  2 896  392 208 0.954 2 220 571 27.8
50 5 0.011 0.056  76 993  4 275  374 278 0.936 1 828 363 23.7
55 5 0.015 0.074  72 718  5 366  350 174 0.904 1 454 085 20.0
60 5 0.025 0.120  67 352  8 097  316 518 0.860 1 103 910 16.4
65 5 0.035 0.162  59 255  9 576  272 335 0.795  787 392 13.3
70 5 0.058 0.256  49 679  12 709  216 621 0.711  515 057 10.4
75 5 0.080 0.333  36 969  12 320  154 047 0.588  298 436 8.1
80 5 0.147 0.531  24 649  13 092  90 517 0.428  144 389 5.9
85 5 0.207 0.660  11 557  7 622  38 732 0.314  53 872 4.7
90 5 0.273 0.764  3 935  3 005  12 164 0.223  15 140 3.8
95 5 0.337 0.834   930   776  2 711 0.089 d  2 977 3.2

100 ω 0.579 1.000   154   154   266   266 1.7
Mujeres/Females

0 1 0.078 0.074  100 000  7 371  94 580 0.923 b 6 506 942 65.1
1 4 0.004 0.015  92 629  1 403  366 761 0.986 c 6 412 363 69.2
5 5 0.001 0.005  91 225   491  454 899 0.995 6 045 602 66.3

10 5 0.001 0.004  90 734   362  452 765 0.995 5 590 703 61.6
15 5 0.001 0.006  90 372   525  450 546 0.993 5 137 938 56.9
20 5 0.002 0.009  89 847   772  447 304 0.991 4 687 392 52.2
25 5 0.002 0.010  89 075   878  443 180 0.989 4 240 088 47.6
30 5 0.003 0.013  88 197  1 148  438 114 0.985 3 796 908 43.1
35 5 0.003 0.017  87 049  1 451  431 615 0.980 3 358 793 38.6
40 5 0.005 0.023  85 597  1 992  423 007 0.973 2 927 178 34.2
45 5 0.006 0.031  83 605  2 610  411 502 0.961 2 504 171 30.0
50 5 0.010 0.047  80 995  3 782  395 523 0.948 2 092 668 25.8
55 5 0.012 0.058  77 214  4 452  374 938 0.924 1 697 145 22.0
60 5 0.020 0.096  72 762  6 967  346 390 0.891 1 322 207 18.2
65 5 0.026 0.124  65 794  8 154  308 586 0.837  975 817 14.8
70 5 0.046 0.208  57 640  11 962  258 295 0.763  667 231 11.6
75 5 0.063 0.274  45 678  12 526  197 076 0.641  408 936 9.0
80 5 0.126 0.476  33 152  15 776  126 322 0.473  211 860 6.4
85 5 0.189 0.626  17 377  10 874  59 698 0.342  85 538 4.9
90 5 0.258 0.743  6 503  4 830  20 438 0.239  25 841 4.0
95 5 0.332 0.830  1 673  1 388  4 894 0.094 d  5 402 3.2

100 ω 0.561 1.000   285   285   508   508 1.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


